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SECTION 1 VOCABULARY

(Question 1to 10)

Foitto], T = =& E= S ULt

#3 olof gre YJojtio], E= Yilo] £&
oM f.

Ol rabbit
02 fast
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SECTION 2 GRAMMAR
(Question 11 to 12) 282 2= SHMIYLICI
=M XAl AFZoll 2 &S HMoM Q..

11.[E2]]Q] BiZlo] Soj& LU= Y2 AUZ 2N Q.
[E27]] You walk very ( )
[0HA] He 0L =2lAH Z2=Ch

D slow @ fast @ slowly @ her & well

12. [H7]]2] 2%olIM E3 22 HIZH I A A|Q.
(St=2of oMol XA Yol 2EF= 1E A)
["7]] She is to the mountain.

[iA] 4= & 2lof UL
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SECTION 3 TRANSLATION: SHORT SENTENCES

(Question 13 to 16) ¥°f ErE2 H46l= SMILIC.
%-C HA 2 GIAM| 2.

1 3. He is very unhappy.

14. His friend is Country Mouse.

(Question 17 to 20) Ct=3o| B2 S ¥1240l= =X LIC.
Ul‘—Oi H-|0=| O '5'-*-"_9_

17. L= 0% SSOlLI.

18. L= CHAl = AIZ 911 RULCH
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SECTION 4 TRANSLATION: LONG SENTENCES

(Question 21 to 22) ¥°f == HYol= SHILICL
% o|E TI=20o|F A2 BIA L.

21. Look at this picture.
What is this?
It is a penguin.
The penguin lives in the South Pole.

(Question 23 to 24) S0 == HYol= =M LIC.
VIOl E YOoIE YA GlMI 2.

23. JH+tdl= =40l
IANcl= gMo|LCt
=17|= Dol
Lid|= =24 o|LC.
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grandmother/ daughter/ granddaughter/
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